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V2D2 Al (#cHk £ 170kg/ha> # e 6 Ak feB E R 212 % 1.8m) 2 22, 712
% 15,848 > TH® > H = 5 V2D3 AT (#cHk € 170kg/ha > & If 8 -k 4%
BERI T 2.4m) 2 22,240 2 14,856 27 - 25 & % & € 2 V2D2
AL (3% E 170kg/ha > 15 6 7 kfe@E R 2 4% 1.8m) = 15,848 =
T % > H=t i V2D3 AT (#cik € 170kg/ha > % 1R 8 7 ki@ iE it
%2.4m) 2 14,856 27 o & E F 2 G 2 VID1 A (#cdk £ 140kg/ha
s Bl 4 FORFERER IR 12n) 2 T2. 7% % 0 2=t 5 VID4 Au (
¥t € 140kg/ha > # 1g 10 kA E R 2w 3. 0m) 2 70.5% ° Adeik
#E G 0 V2D3 AR (H#cdh £ 170kg/ha  # If 8 A KAeB A B 4 % 2. 4n
) 2 46,880 = 7B F > H = 5 V2D2 AT (#cAEE 170kg/ha > # 1 6 77k
FeBE BRI ET 1.8m) 2 45,440 27 - AT BRRBRLEE 0 MTRET AR
12 V2D1 A2 (#cg B 170kg/ha> & 15 4 -k 4B i R 2 v % 1. 2m)2 14, 720
D TEF 0BG V2DA AT (#cHhE 170kg/ha» # 15 10 7ok feRB A R 2
% 3.0m)2 13,360 = 72 F & A € 2 V2D1 Au2( 3% £ 170kg/ha
 HIE 4 FORAERER I E T 1.2m) 2 8,688 2 ThF 0 H = i V2D2 A
® (#dhE 170kg/ha > 15 6 F-kfeBE B2 % 1.8m) 2 8,000 &7
o &R T F 5 0 VID] AT (#dhE 140kg/ha > # 15 4 ke AR
FupE1.2m) 2 69.8%5 % > H=x 5 VID3 AuZ (#cdhE 140kg/ha @ = If
8 A ke E B A% 2.4m) 2 66.6% AfithiE € > 6 2 V2D A2 (¥
#¥ 170kg/ha » g 4 F-RAeB AR % 2.4m) 2 26,400 = 753 -
#=x5 V2D4 Ao? (#cie € 170kg/ha > # 1f 10 F-RfeB 2R 2 %% 3. Om
) 2 24,320 27 c FEFERFAEE RS B AR L E 2T ET K
B 1T0kg> *E6 7-kfeBE B (% 1.8m) 2HE813 N
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BB
Vibl  35.7 1.1 8.8 17.2 15.2 31467 17433 12653 72.7
ViD2 40.5 1.1 9.3 16.4 12.8 29667 14300 9967 69.5
vibd 38.6 1.5 9.1 16.1 13.3 31667 15220 10267 65.8
viDd  39.9 1.9 9.2 16.9 13.3 34133 17567 12407 70.5
V2Dl  38.1 0.7 9.1 17.1 15.2 42640 21680 14440 66.5
V2D2 38.3 1.0 8.9 17.3 18.3 45440 22712 15848 69.7
V2D3 42,9 1.3 9.2 17.9 18.3 46880 22240 14856 66.8
V2D4  41.1 1.3 9.2 16.1 14.5 39680 20848 14592 70.0
TEEF
Vil 39.1 0.7 86 16.2 8.7 17200 9467 6560 69.8
ViD2 42.3 1.4 86 16.1 10.0 17600 9400 6080 64.8
ViD3 37.2 1.5 87 14.1 8.7 17867 9760 6480 66.6
ViD4 40.8 1.5 85 16.1 11.7 18933 10267 6253 60.8
V2Dl 40.6 1.9 8.9 15.7 11.0 26400 14720 8388 58.5
V2D2 40.5 0.8 8.9 18.2 9.0 23360 12096 8000 65.4
V2D3 41.4 1.8 8.7 16.6 10.0 22080 12160 6096 50.7
V2D4  39.9 1.3 83 15.6 11.0 24320 13360 7232 53.7
s 1. fa+ #ah £ V1 - 140kg/ha % V2 ¢ 170kg/ha -
20v#% D1 :1.2m~D2:1.8m~D3:2.4m % D: 3.0me



